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used throughout the paper
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Attempt 4/l questlons Ca]culators with sxmple arithmetic funcuons
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are allowed. Statlstlcal tables and graph paper w111 be prov1ded
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1. - What do you understand by the term measurement '7 Descrlbe the various scales of

- measurement. ' ' : S 144
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Describe histogram as a method of representmg frequency dlstrlbutlons graphlcally How

is it different from a frequency polygon ? 243
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(@) Given below are the scores obtamed by students on a 50 marks test of health psychology.
Construct a frequency polygon for the data : 4
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Scores. - f
(i) | ()
4549 1
40—44 3
35—39 5
30—34 9
25—29 8
20%24 6
15—19 7
10—14 - 5
5—9 4
0—4 2
N =50
(b) For the above data calculate Pg, and percentile rank for a score of 13. 3+3
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What is the 51gmﬁcance of measures of centra] tendency ? Examme the properties of
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What is semi-interquartile range ? What are the conditions under which the semi-interquartile

range will be the most appropriate measure of variability ? ' 2+3
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(a) Calculate medlan and standard dev1at10n for the followmg set of scores : 2+4
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10 83 12 12 11 9 4 6 5

(b)  The standard deviation of a distribution is 20. What would the standard deviation become
-1f a value of 10-is sﬁbtracted from each score and the resulting values are divided
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(¢)  On the mid-term exam in their sociology course, Shweta’s deviation score was +5

.and Nita’s 'deviation score was —13. If the mean for the class was 75, what were

the raw scores obtamed by Shweta and Nlta ? ' 2
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Why are standard scores vimportant in psychological measurement ? Compare Z-scores and

percentlle ranks. ' B | o N 2+3 '
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Describe the characteristics of the normal pr'osabiliw ‘éuﬁ(e. . S
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>(a) The afmie_ty scores of 500 students are normally distributed with a mean of 80 and

a standard deviation of 10.
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)] How many students have an 'anxiéty score above 98 ? ‘ ' 3
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(b) For norfnaily distributed scores, whst ‘proi‘portiovrvl sf scores wopld fall bétween
z——.0'25andz—.v+1'25‘7:vv | - | 4
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With the help of scatter dlagrams explam the meamng of a zero positive and negative |
correlation. ' 5
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- What is the random sampling. dlstnbutlon of the mean ? Discuss its 51gn1ﬁcance in 1nferent1al

statxstlcs _ 3+2
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(@) Two teachers ranked ten students on their interpersonal skills. Calculate Spearman’s
rank-order correlation coefficient as an index of agreement between the two teachers :-5
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Teacher A Teacher B
(3TEATTH - A) . (3wATE B)
0 9
g 7 X
| .
1 3
5 4
6 5
9, 0
4 g
B 2
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' Fro‘r:n a normally distributed population with p = 250 and ¢ = 24, sampleé of size

64 are drawn at random. Within what limits would the central 50% of the sample

means fall ? | ' . ‘ 5
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Answer the following questions :
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Give the real limits and interval width of a class interval of 22.5-22.9 when measurement

is to the nearest tenth " ‘ 2
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A school psychologist determines the IQ score for every student in her school. The

school nurse measures the current height of every student. Are the two studying the

same populat1on ? Explain. ‘ o 2
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With the help of rough sketch, illustrate which measure of central tendency has the
highest value lin a positively skewed distribution. | o 2
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Whiéh.graphical representation is most suitable for comparing frequency distribution of

two or more quantitative variables ? ' 2
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Distinguish between discrete and continuous variables. Give a suitable example for

each. ' 2
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What do you understand by the concept of Kurtosis ? What is the value of Kurtosis
for a normal curve ? ‘ o : 2

FHEA B T D w7 T 82 WA T 3 fom FEA F T T
et ?

Is it appropriate to obtain Pearson’s correlation coefficient when the relationship between

two variables is curvilinear ? Explain. ‘ _ 3
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